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Period (sec)
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‘ yy

Period (sec)

. Kx
. Ky




RX28: CTB04 (Z + K inversion)

nRMS=3.8
. Xy . XX . Kx
W oy © Ky
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0.5f
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3 9 g O
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RX29: CTBO5 (Z + K inversion)

nRMS=4.2
. Xy . XX . Kx
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Period (sec) Period (sec) Period (sec)
. Xy ° XX . Kx
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RX30: CTCO6 (Z + K inversion)
nRMS=1.4
. Xy . XX . Kx
W c W © Ky
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—~ 102k —~ 102t
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o
£ £ 2 {44
N N C
3 9 g O
@ 10°F @ 10°F E t
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oo e
107 107
10 10 10° 10° 10*  10* 107 10° 10% 10*  10* 107 10° 102 10*
Period (sec) Period (sec) Period (sec)
1.
150} 150} 0.5
(0]
100} ) 100} = ph
g oo RN B 2 o
S S £ t
g O 2 9 E +
© ©
g =0 & 0 .05}
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Period (sec) Period (sec) Period (sec)
. Xy ° XX . Kx
. yx . vy . Ky




RX31: CTBO7 (Z + K inversion)

nRMS=1.9
. Xy . XX . Kx
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10 1072 10° 10? 10* 10" 107? 10° 10? 10* 10" 107? 10° 10° 10*
Period (sec) Period (sec) Period (sec)
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RX32: CTBO08 (Z + K inversion)

nRMS=1.4
. Xy . XX . Kx
W c W © Ky
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0.5f
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Period (sec) Period (sec) Period (sec)
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W W © Ky




RX33: CTBO09 (Z + K inversion)
nRMS=1.2
. Xy . XX . Kx
¢y W © Ky
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o
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Period (sec) Period (sec)
. Xy i XX . Kx
. yx . vy . Ky




RX34: CTB10 (Z + K inversion)

nRMS=1.2
. Xy . XX . Kx
W oy © Ky
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Period (sec) Period (sec) Period (sec)
. Xy . XX . Kx

. yx . vy . Ky




RX35: CTB11 (Z + K inversion)
nRMS=1.1
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Y © oy © Ky
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RX36: CTB12 (Z + K inversion)
nRMS=1.2
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. Xy ° XX . Kx
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RX37: CTB13 (Z + K inversion)

nRMS=1.1
. Xy . XX . Kx
Y © oy © Ky
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App Res (ohm.m)
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RX38: CTB14 (Z + K inversion)
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RX39: CTB15 (Z + K inversion)

nRMS=0.9
. Xy . XX . Kx
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. Xy ° XX . Kx
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RX40: CTB16 (Z + K inversion)

nRMS=0.9
. Xy . XX . Kx
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RX41: CTB17 (Z + K inversion)
nRMS=0.7
. Xy . XX . Kx
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RX42: CTB18 (Z + K inversion)

nRMS=0.9
. Xy . XX . Kx
W oy © Ky
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RX43: CTB19 (Z + K inversion)
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App Res (ohm.m)

Phase (deg.)

RX44: CTB20 (Z + K inversion)
nRMS=1
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. Ky




RX45: CTB21 (Z + K inversion)

nRMS=0.9
. Xy . XX . Kx
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RX46: CTB22 (Z + K inversion)
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RX47. CTDO2 (Z + K inversion)
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W oy © Ky
10%f 10% 1
Hy
= 10%¢ —~ 102k 051
1S IS
d a | 4 (&)
1 o
E £ I E
) S c
4 g || g of
x 10% x 10% E }
o o )
o o [h
< < t
_0.5.
107 107
10 10 10° 10° 10*  10* 107 10° 10% 10*  10* 107 10° 102 10*
Period (sec) Period (sec) Period (sec)
l-
150} 150} 0.5
(0]
100f 100} \ } s
- . .o - c
S 50t S 50 \ S of
) 0 ° 0 T IS + + +
2 g E
g =0 & 0 .05}
-100f . -100f }
150} 150} T
10 1072 10° 10? 10* 10" 107? 10° 10? 10* 10" 107? 10° 10° 10*
Period (sec) Period (sec) Period (sec)
. Xy ° XX . Kx
. yx . vy . Ky




RX48: CTDO03 (Z + K inversion)
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RX49: CTDO04 (Z + K inversion)
nRMS=1.3
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RX50: CTDO5 (Z + K inversion)
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App Res (ohm.m)

Phase (deg.)

RX51: CTDO6 (Z + K inversion)
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RX52: CTDO7 (Z + K inversion)
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RX53: CTCO03 (Z + K inversion)
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App Res (ohm.m)

Phase (deg.)

RX54: CTCO04 (Z + K inversion)
nRMS=3.4
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App Res (ohm.m)

Phase (deg.)

RX55: CTCO5 (Z + K inversion)
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RX56: CTBO6 (Z + K inversion)
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RX57: CTCO7 (Z + K inversion)
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